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Seat No.: ________                                                     Enrolment No.______________  

 

GUJARAT TECHNOLOGICAL UNIVERSITY 
DIPLOMA ENGINEERING – SEMESTER –II  • EXAMINATION – WINTER-2014 

 

Subject Code:3300008 Date: 08/06/2016      

Subject Name: Applied Mechanics 

Time:10.30 AM TO 1:00 PM Total Marks: 70 
Instructions: 

1. Attempt all questions. 

2. Make Suitable assumptions wherever necessary.  

3. Figures to the right indicate full marks.  

4. Use of programmable & Communication aids are strictly prohibited.  

5. Use of only simple calculator is permitted in Mathematics.  

6. English version is authentic. 

 

Q.1  Answer any seven out of ten. 14 

 1. Define the following terms: (I) Statics (II) Dynamics.  

 2. State the law of polygon of forces.  

 3. State the law of varignon’s principle of moments.  

 4. Define Angle of friction and Coefficient of friction.  

 5. Write laws of Dynamic friction.  

 6. Define Reversible Machine and self –locking Machine.  

 7. Define the following:  Kinetic energy and Potential energy.  

 8. 1 Joule =___________N.M and 9.81 N = __________KGF.  

 9. Define Weight and mass.  

 10. 1 degree = ___________radian and 1 hp = __________watt.  

    
Q.2 (a) Explain condition of equilibrium of coplanar concurrent forces. 03 

  OR  

 (a) Two forces of 10N each act an angle θ with each other so that their resultant is 

also 10N. Find the angle.                                                                                  

03 

 (b) State and explain the law of Parallelogram of Forces.                                      03 

  OR  

 (b) Two forces 50 KN each acting at an angle 40° between them find magnitude 

and direction of the resultant. 

03 

 (c) State and explain Lami’s theorem. 04 

  OR  

 (c) Find forces T and  C for the crane shown in the figure.                                          04 

 (d) Explain like and unlike parallel forces giving examples. 04 

  OR  

 (d) The following forces are acting at a point find Magnitude and direction of 

resultant forces.(I) 10 N Inclined at 30 degree Towards North of East.(II) 12N 

Towards North (III) 15 N Towards North-West. (IV) 18 N Inclined at 40 

degree towards south of west. 
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Q.3 (a) Define a couple and list the properties of couple. 03 

  OR  

 (a) 10 KN force acting perpendicular to the diagonal of a rectangular plate at 

corner, shown in figure. Find moment about point A. 

03 

 (b) Explain condition of equilibrium of coplanar Non concurrent forces. 03 

  OR  

 (b) Three forces 2KN, 3KN and 4KN are acting clockwise on equilateral triangle 

inline of triangle side. Calculate resultant, its direction and point of 

application. 

03 

 (c) Explain any two types of loads. 04 

  OR  

 (c) A beam is loaded as shown in figure. Find unknown weight ‘W’ and distance 

‘X’. 

04 

 (d) Explain any two types of supports. 04 

  OR  

 (d) A simple supported beam has span of 5.0 Mt. it carries a concentrated load of 

200 KN. 2.0 Mt. from left hand support and a concentrated load of 100 KN. 

At 1.0 Mt from the right. Calculate support reaction. 

04 

    
Q.4 (a)  Write laws of static friction. 03 

  OR  

 (a) Find the weight of a case if it requires 25 N effort to slide it up on the inclined 

plane making 30 degree with horizontal plane. Assume coefficient of friction 

=0.10. 

03 

 (b) Explain the Sliding friction & Rolling friction. 04 

  OR  

 (b) Proove that angle of limiting friction ø and angle of repose α are equal i.e α=ø. 04 

 (c) Determine position of centroid for the figure shown  below. 07 

    
Q.5 (a) In a lifting Machine an effort of 20 N and 30 N can lift a load of 600 N and 

1000 N respectively. show that the Maximum efficiency is 80% .if the VR= 

50. 

04 

 (b) In a single purchase crab length of arm is 600 mm and dia of load drum 200 

mm. The Nos of teeth on pinion is 20 & on spur 100. Calculate the efficiency 

of  Machine when load of 2000 N lifted by on effort of 100 N. 

04 

 (c) An engine weighing 500 KN is capable of  generating a velocity of 30 km/hr. 

in 2 minutes on a level track. If resistance due to friction and other be 25 

N/KN, calculate power of engine in KW. 

03 

 (d) A horse is pulling a cart at constant horizontal force of 150 N. at the speed of 

2.5km/hr. find the work done in 10 minutes. 

03 
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ગજુરાતી 
પ્રશ્ન. ૧  દળભ ાંથી કોઇ઩ણ વ તન  જલ ફ આ઩ો. ૧૪ 

 ૧. નીચે આ઩ેર ઩દોની વ્મ ખ્મ  આ઩ો (1) સ્થથતીળ સ્ત્ર (2) ગતીળ સ્ત્ર.  

 ૨. ફ઱ોન  ફહુકોણનો નીમભ રખો.  

 ૩. લેરયગનનો ફ઱ોનો સવદ્ ાંત  રખો.  

 ૪. ઘ઴ષણકોણ અને ઘ઴ષણઆંકની વ્મ ખ્મ  રખો.  

 ૫. ગસતક ઘ઴ષણન  નીમભ રખો.  

 ૬. ઩રયલતીત માંત્ર અને અ઩રયલસતિત માંત્રની વ્મ ખ્મ .  

 ૭. ગસતજક મષળસ્તત અને સ્થથતીજક મષળસ્તતની વ્મ ખ્મ .   

 ૮. ૧ જુર=__________ ન્યટુન.ભીટય અને ૯.૮૧ ન્યટુન=______કે.જી એપ.  

 ૯. લજન અને દ઱ની વ્મ ખ્મ  રખો.  

 ૧૦ ૧ રિગ્રી=________યેરિમન અને ૧ એચ.઩ી=________લોટ.  

    
પ્રશ્ન. ર અ વભતરીમ વાંગ ભી ફ઱ોન  વભતોરનની ળયતો રખો. ૦૩ 

  અથલ   

 અ ૧૦  ન્યટુનનુાં એક એલ ાં ફે ફ઱ોં એકફીજા વ થે નો ખણૂો θ ફન લે છે. જેને 
ક યણે તેભનુાં ઩રયણ ભી ફ઱ ઩ણ ૧૦ ન્યટુન છે.તો ખણૂ  ની રકભત ળોધો. 

૦૩ 

 ફ વભ ાંતય ફ જુ ચત ુાં઴કોણનો સનમભ રખો. અને વભજાલો. ૦૩ 

  અથલ   

 ફ ૫૦ કી ન્યટુન નુાં એક એલ ાં ફે ફ઱ોં એકફીજાને ઩યથ઩ય ૪૦° ન  ખણૂે ર ગે 
છે. તો ઩રયણ ભી ફ઱ની રદળ  અને મલુ્મ ળોધો. 

૦૩ 

 ક ર ભીનુાં પ્રભેમ રખો અને વભજાલો. ૦૪ 

  અથલ   

 ક આકૃસતભ ાં ફત લેર કેન ભ ટે ટી અને વી ળોધો. ૦૪ 

 િ વભ ન વભ ાંતય ફ઱ો અને અવભ ન વભ ાંતય ફ઱ો ઉદ શયણ આ઩ી વભજાલો. ૦૪ 

  અથલ   

 િ એક બફદુ ઩ય નીચે ફત લેર પ્રભ ણેન ાં ફ઱ોં ક મયત છે.તો તેનુાં ઩રયણ ભી 
ફ઱ અને રદળ  ળોધો. 
(૧) ૧૦ ન્યટુન પલુ રદળ થી ૩૦ િીગ્રી ઉતય રદળ  તયપ.(૨) ૧૨ ન્યટુન ઉતય 
તયપ. 
(3) ૧૫ ન્યટુન ઉતય-઩બચભ તયપ.(૪) ૧૮ ન્યટુન ઩બચભ રદળ થી ૪૦ િીગ્રી 
દબિણ. 
 
 
 

 

 

૦૪ 
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પ્રશ્ન. ૩ અ ફ઱યગુભની વ્મ ખ્મ  આ઩ો અને તેની ર િણીકત ઓ જણ લો. 

 

૦૩ 

  અથલ   

 અ ૧૦ કી ન્યટુન નુાં ફ઱ આકુસતભ ાં ફત લેર મજુફ લીકણને રફાંરુ઩ે એક ખણૂ  
઩ય ર ગે છે. બફિંદુ ‘A’ ઩ વે ભોભેન્ટ ળોધો. 

૦૩ 

 ફ વભતરીમ, અવભ ાંતય, અવાંગ ભી ફ઱ોંન  વભતોરનની ળયતો જણ લો. ૦૩ 

  અથલ   

 ફ ૨ કી.ન્યટુન, ૩કી.ન્યટુન અને ૪. કી ન્યટુન ન  ત્રણ ફ઱ો અનકુ્રભે એક 
વભફ જુ સત્રકોણની ફ જુઓ ઩ય લત ુાં઱ ક યે તભે ઘિીમ ઱ન  ક ાંટ ની રદળ ભ ાં 
ર ગે છે.આ ફ઱ોન  ઩રયણ ભી ફ઱ોની રદળ  અને ઩રયણ ભ ળોધો. 

૦૩ 

 ક કોઈ ઩ણ ફે બયન  પ્રક યોં વભજાલો. ૦૪ 

  અથલ   

 ક આકુસતભ ાં ફત લેર ફીજા ભ ટે અજાણ લજન w અને રિથટન્વ x ળોધો. ૦૪ 

 િ કોઈ ઩ણ ફે આધ યન  પ્રક યો વભજાલો. ૦૪ 

  અથલ   

 િ એક વ દી યીતે ટેકલેર ઩ ટિ નો ગ઱ો ૫ ભીટય છે.િ ફી તયપન  આધ ય થી 
૨ભીટય ન  અતયે ૨૦૦ કી.ન્યટુન નો એક વાંકેદ્રીત બ ય ર ગે છે.તથ  જભણી 
તયપન  આધ ય થી ૧ ભીટય ન  અતયે ૧૦૦ કી.ન્યટુનનો એક વાંકેદ્રીત બ ય 
ર ગે છે. ટેક ની પ્રસતરક્રમ ઓ ળોધો. 

૦૪ 

    
પ્રશ્ન.૪ અ સવથત ઘ઴ષણન  સનમભો રખો. ૦૩ 

  અથલ   

 અ વભબિસતજ વ઩ ટી વ થે ૩૦ રિગ્રી નો ખણૂો ફન લતી ઢ઱સત વ઩ ટી ઩ય એક 
કેવને ચઢ લલ  ભ ટે જો ૨૫ ન્યટુન નુાં ફ઱ જરૂયી શોમ તો કેવનુાં લજન 
ળોધો.ધ યો કે µ =૦.૧૦ 
 

૦૩ 

 ફ થ઩ળી ફ્રીતળન અને યોબરિંગ ફ્રીતળનની વ્મ ખ્મ  આ઩ી વભજાલો. ૦૪ 

  અથલ   

 ફ વ બફત કયો કે વીભ ાંત ફ્રીતળન કોણ Ø અને સલશ્ર ભકોણ α વભ ન છે.એટરે કે 
α=Ø. 

૦૪ 

 ક આકૃસતભ ાં ફત લેર આક ય ભ ટે િેત્રકેન્દ્રનુાં થથ ન ળોધો. 
 

 

૦૭ 

   

 

 

 
પ્રશ્ન.૫ 

 
 

અ 

 

 

 

લજન ઉછતલ ન  એક માંત્ર લિે ૨૦ ન્યટુન અને ૩૦ ન્યટુન ન  પ્રમત્ન ફ઱થી 
અનકુભે ૬૦૦ ન્યટુન અને ૧૦૦૦ ન્યટુન લજન ઊચકી ળક મ છે.જો લેગ 
ગણુોતય ૫૦ શોમ તો ફત લો કે ભશતભ ક મષિભત  ૮૦% છે. 

૦૪ 
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 ફ સવિંગર ઩યચેજ કે્રફભ  પ્રમત્ન શથ ની ૬૦૦ એભ.એભ અનેબ ય ન઱ ક યનો 
વ્મ વ ૨૦૦ એભ.એભ છે. ઩ીનીમનભ ાં દ ત ની વખ્મ  ૨૦ અને થ઩ય ચક્રભ ાં 
દ ત ની વખ્મ  ૧૦૦ છે. માંત્રનો એપીશ્માંવી ળોધો.જો માંત્ર ઩ય ૨૦૦૦ ન્યટુન 
નો બ ય ઉછતલ  ૧૦૦ ન્યટુન પ્રમત્નની જરૂય ઩િે છે. 

૦૪ 

 ક ૫૦૦ કી ન્યટુન લજનનુાં એંજજન૩૦રકભી./કર ક ન  લેગથી ગસત ભ ટે ળસ્તત 
઩ેદ  કયી ળકે છે. જો આ લેગ ભ ટે ૨ સભસનટ ર ગતી શોમ અને વભતર ઩થ 
શોમ અને અલયોધ ફ્રીતળન અને ફીજા  ફધ   ૨૫ કી ન્યટુન ર ગતો શોમ તો 
એંજજને ઉત્઩ન્ન કયેરીળસ્તત કી લોટ ભ ાં ળોધો. 

૦૩ 

 િ એક ઘોિો ૧૫૦ ન્યટુન જેટર  િેસતજ ત ણથી ઘોિ ગ િી ૨.૫ રકભી/કર કની 
જિ઩ે ખેચે છે.તો ૧૦ સભનીટ ભ ાં કેટલુાં ક મષ કયળે. 

૦૩ 
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Figure is given 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Que. 2 (c) OR 

Que. 3 (a) OR 

Que. 3 (c) OR 

Que. 3 (d) OR 

Que. 4 (c) 


